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QUESTION 1

In a Fibre Channel configuration, the host\\'s HBA is referred to as the

referred to as the
A. primary, secondary
B. initiator, target
C. secondary, primary
D. target, initiator

Correct Answer: B

QUESTION 2
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, and the storage system\\'s HBA is

Before running lun setup on the storage system, you must first create the igroup to which the initiator will be attached.

A. True
B. False

Correct Answer: B

QUESTION 3

Match each term with its definition.

Select and Place:

Correct Answer:

CIFS oplocks ||/etc/usermap.cfg
GPO /etc/passwd
SMB Signing || /etc/Iclgroups.cfg
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SMB Signing

CIFS oplocks

GPO

QUESTION 4

CIFS clients can resolve symbolic links created by NFS clients on the storage system.
A. True

B. False

Correct Answer: A

QUESTION 5

The super user receives an "Access Denied" message when he attempts to mount the new gtree. What is the most
likely cause of this error?

A. NFS is turned off on the storage system.

B. The gtree has not been exported.

C. The gtree is set to ntfs only security style.
D. The gtree is missing from the /etc/hosts file.

Correct Answer: B
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